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1. BEEHOR
(1) BHEINEE
EAXRMEERE 1,000 1,000 0
HRBAEEFI RUREE 1,000 1,000 O|BEARMES LES
REEEERE 1,000 1,000 0
HEEEER 3 1,000 1,000 OSBRI ER ST
ZHMARE 10,000 10,000 0
ZWMALS 10,000 10,000 0
ZHRE 21,260,000 21520000 A 260,000/ F LRI
HEE 2,740,000 2,750,000 A 10,000
ERE 17,040,000 17,280,000 A 240,000
LEES = 1,480,000 1,490,000 A 10,000
=% 1,222,000 1,222,000 0
FE RN 1,220,000 1,220,000 0
— R & 2,000 2,000 0
ZHMENMEE 11,770,000 17,820,000f A 6,050,000
BERBESEHEDE 9,450,000 15,500,000/ A 6,050,000 (IR 1025
FECXIRHEESEHUE 0 0 0|t RRER~—*1t
IDEESNEREETEHEE 0 0 O|#EEESE~—F1t
MPRBEB RS 2,200,000 2,200,000 of A s
META RS 100,000 100,000 0| BRLLIH (F )
HREE 20,000 20,000 0|3 EIRIRERASE
ZHEES 7,600,000 7,150,000 450,000
BHKR2AEE 3,600,000 3,150,000 450,000 |Rehxs AR
FEHEEHEAES 4,000,000 4,000,000 0
MU 401,000 401,000 0
SEF R 1,000 1,000 O|4HEREEEIE
MRS 400,000 400,000 0| REWMHILES
ZEERA 0 0 0
FEESIA 0 0 0
BRI 42,265,000 48,125,000 A 5,860,000
(2)REER
£ 34 42,265,000 48,125,000 A 5,860,000
WEFY 11,300,000 10,900,000 400,000
RETER 462,000 452,000 10,000
BEfRTEILE 192,000 168,000 24,000
BREEE 1,790,000 1,740,000 50,000
£ 2,070,000 2,120,000 A 50,000
WHELREESE 250,000 250,000 0
REBREERE 100,000 100,000 0
BERE-HEEESE 250,000 250,000 0
REHREERE 100,000 100,000 0
Hwe# 200,000 200,000 0
BEx® 600,000 600,000 0
BEExE 100,000 100,000 0
HEeE 300,000 300,000 0
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Atz —8 120,000 120,000 0
BERISSEE 50,000 100,000 A 50,000

RCES 8,700,000 8,650,000 50,000
BNTHEE 250,000 250,000 0
HMRATE 400,000 400,000 0
102 Bk & 9,450,000 15,500,000f A 6,050,000(3% %5t
KB ARFEE 0 0 0|fkit
BRXEERE 0 0 0|kt
CEBRBRIIENRE 0 0 O|fkit
& 183,000 183,000 0
RERBE 210,000 210,000 0
BISEMHRE 770,000 770,000 0
HEMRE 280,000 280,000 0
STy - 30,000 30,000 0
FEREREN 850,000 850,000 0
EHEE 100,000 100,000 0
®’HE 1,000 1,000 0
XihaEE 3,772,000 3,966,000 A 194,000
LAY —BR 2,722,000 2,906,000 A 184,000
RitR&&E 520,000 530,000 A 10,000
wER 530,000 530,000 0
HE 233,000 333,000 A 100,000
FE R 1,220,000 1,220,000 0
— Rt & 2,000 2,000 0
wREA 42,265,000 48,125000 A 5,860,000
LR EERE 0 0 0
2. BENEHOE
() FEESREE 0 0 0
s E B E 0 0 0
BEEIRIEE 0 0 0
(2)BENER 0 0 0
sFl B RIRRE 0 0 0
BENERG 0 0 0
LEREIMERE 0 0 0
= EHREEE 0 0 0
L — AR IERREA FE S RIEE 0 0 0
—RERMEHEES 38,111,740 34,675,101 3,436,639
—RRIERRBIE RS 38,111,740 34,675,101 3,436,639
I {EEERMERROE 0 0 0
SHMENEE 0 0 0
— MR ERRBIE~DIREEE 0 0 0
LEATEE IERRBA R IR 0 0 0
EEERMEHERS 4,050,000 4,050,000 0
IEEERMESRES 4,050,000 4,050,000 0
I ERMEHARES 42,161,740 38,725,101 3,436,639
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